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HIT-1/ Part-1
(3Tt 91 HwT-30)
Hre: 3@ 9 ° et 15 Y &1 T yed st #1 uee wee & faw 02 ofw fawifa )

Note: There are 15 questions in this part. All questions are compulsory. Each question carries 02 marks.

STRIGE | ek, qrielt, sweft @ik 2fg Atk #1 ufvem @ ud 1 @R 9t % = 22

[ ST | : 20 9IsE)

What is the correct sequence from west to east of rivers: Alaknanda, Bhagirathi, Kali and Tons in Uttarakhand

ITEE F HA-T1 ifaes 96 Afuehag amfies aw o sial 272

[Answer Limit : 20 words]

[ SR |1 : 20 9= ]

Which physical zone of Uttarakhand receives the highest amount of annual rainfall?

[Answer Limit :20 words]

. STEE ¥ A Y@ vdd Sfor @l ST i arel dF | & A fafed [ Sww "mn 20 v

Write the name of three thrusts separating the three main mountain ranges in Uttarakhand.

T ISR F A § 3TqAE a5 STIaNEd Fd o7

Which drainage systems drain the Malwa Plateau?
ARG ¥ & fafer= & W 1 W aadd

Name the different types of gauges of Indian railways.

ANd & U= 9o BeHl | oTfie ol % A SR 22

Why does the west coastal lowlands of India receive heavy rainfall.

. “fereh weifed W froqh ferf

Comment on 'Mishmi Hills'.
‘ sftfee’ o ®2

What is 'Amindivi'?

. ‘a3 R B?

What is 'Deccan Trap'?

Sta-fafaerar s wftfyg i@
Define Bio-diversity.

Yo RN 2

What is white coal?

Ffead Ufafthe Tomml &1 avi i)
Describe Canadian&Pacific Railway.
‘Sz urd’ w7

What are the 'Jet streams'?

T fore @ €2

What is earthquake science?

gftc SR W F 7?2

What is rain shadow region?

[Answer Limit : 20 words]
[STX Hi°T : 20 IsE]
[Answer Limit : 20 words]
[ ST | : 20 vIsS)
[Answer Limit : 20 words]|
[ST HiHT : 20 I
[Answer Limit : 20 words]
[STR ||T : 20 vIsg]
[Answer Limit : 20 words]
[S¥ | : 20 I
[Answer Limit : 20 words]
[S¥IX |\ : 20 IIeE]
[Answer Limit : 20 words]
[STX €i|T : 20 vIsE]
[Answer Limit : 20 words]
[STX 9T : 20 I
[Answer Limit : 20 words]
[ST ©iUT : 20 II=]
[Answer Limit : 20 words]
[STX ||T : 20 vIsE]
[Answer Limit : 20 words]
[STX 9T : 20 I
[Answer Limit : 20 words]
[ST ©iUT : 20 I

[Answer Limit : 20 words]

&)
5



e

Note:

16.

17.

18.

19.

20.

21.

22.

23.

24.

25.

Note:

26.

27.

28.

zThe Vision

Part-2 /90T - 2

Marks-50 / 3% - 50
T 90 H el 10 WA €1 |t e e ?1 vee wee & o 05 ot fawifa )

There are 10 questions in this part. All questions are compulsory. Each question carries 05 marks.

a1 fafae = 2 [3WX €T : 50 ITeF]
What is age pyramid? [Answer Limit : 50 words]
SR i gRenfua Fife| [STX ©imT : 50 vIEE]
Define Watershed. [Answer Limit : 50 words]
IWES & A ATEr &1 9uiq hifed| [STIX ©iHT : 50 g
Describe the tribal habitats of Uttarakhand. [Answer Limit : 50 words]
FOMITTH I 87 [3WX €T : 50 9]
What is Krishnapatnam? [Answer Limit : 50 words]
ufyerdt e fohg e o gl se 9 fue 22 [STT | T : 50 I
How does the Western Ghats differ from the Eastern Ghats? [Answer Limit : 50 words]
IR | 9Ed F1 B B HA-H AR 9SS 82 [39) T : 50 U]
What methods of rice cultivation are practiced in India? [Answer Limit : 50 words]
Uiy S % gell U § U2Ee U i Gl & A R 22 [STX Hw T : 50 9]

What are the reasons for the concentration of Jute Industry in Hooghly tract of West Bengal?
[Answer Limit : 50 words]|

e 3T w1 Giira faearer i@ [STIX ©iHT : 50 vIEE]

Give a short description of Cement Industry. [Answer Limit : 50 words]

g B2 [3T) T : 50 U]

What are Tsunamis? [Answer Limit : 50 words]

ara-ft gora R fewoht FifsE [STRX ||T : 50 IIsE)

Comment on EI-Nino effect. [Answer Limit : 50 words]
9T 3/Part- 3

Marks 40 / 3f& - 40

: 38 9 H e 07 g ¥ swmefl R 05 weAl w1 SR 21y gvd % fow 08 @i Freffa 2

There are 07 questions in this part- Candidate should attempt any 05 questions. Each question carries 08

marks.

B FgHl 1 fa9Tard s 3k 5 anffea st [STX €T : 125 9]
Give the characteristics of Metamorphic rocks and classify them. [Answer Limit : 125 words]
Ul % YRR T FUH HifS| [STR T : 125 VI&F]
Describe the types of rainfall. [Answer Limit : 125 words]
ET-TEd IE % faw % o enovas qRfeufal o Ry R Sged T omfie ¥ Suge
EdEuEIERE [ST | : 125 9]

Explain the essential conditions for the development of Iron and Steel Industry and development of Iron

an give suitable examples from U.S.A. [Answer Limit : 125 words]
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ufyerdt foelis o0 22 WA | THh HE 1 G whifed [STR | ;125 II=)
What is Western disturbance? Describe its impact on India. [Answer Limit : 125 words]
gfer Tt e Irer W Efaw fewh fafed) [STR €T : 125 9]
Write short note on Indira Gandhi Canal Project. [Answer Limit : 125 words]
SIEE & ‘faewa’ W dfaa feooft fafea [T | : 125 )
Write a short note on 'SIDCUL' of Uttarakhand. [Answer Limit : 125 words]
fegdt Safoea aRErsmT @1 wfva faaRor weqa sifsal [3¥IC |\ ;125 IIEE)
Give a brief account of Tehri Hydroelectric Scheme. [Answer Limit : 125 words]
9T 4/Part- 4

Marks 80/ 3% - 80

: TH 9N § el 07 WY Bl el Rl 05 WAl 1 SR 2| Y& qe & forg 16 ok feifa €

There are 07 questions in this part- Candidate should attempt any 05 questions. Each question carries 16

marks.

91 3T ¥ TfHa Teresfaai &1 avia wifse [STX HH|T : 250 IIEE]
Describe the landforms produced by wind erosion. [Answer Limit : 250 words]
vifer GHEA & ®Y § B, SA-fogd T Yeiferm (@S de) %1 goras Hewe SRy S S
foga wifd & 9gd W< &t fae=m it [STX 9T : 250 II]
Explain the comparative importance of coal, hydro-electricity and petroleum in the form of energy and
discuss the increasing importance of hydro-electric power. [Answer Limit : 250 words]
fova & TRIFEHO W Ao @@ fated [STX HH T : 250 ITeF]
Write a geographical essay on Urbanization in the world. [Answer Limit : 250 words]|
ITWEE & JadE H JfH & YRR @1 d@faw 9l FifsEl [STX HH|T : 250 IIEE]

Describe in brief the types of mountainous agricultural land of Uttarakhand.

[Answer Limit : 250 words]
“ferelt TM W1 Sla Tl % Solarg w1 gEeh gl 21 fadee sifsE| [STX | T : 250 I
"Vegetation of an area is an index of climate." Discuss. [Answer Limit : 250 words]
g & SN S0 9RA gEAd: $id Ud ol d%h & o difira &2 [S¥R i : 250 =)
Why does the rubber plantations are confined to South India especially Kerala and Tamil Nadu?

[Answer Limit : 250 words]
qRd H I 1 T giaey gHegd) s UE e aEehiol 1 SR YEH Hdl €2
[STX T : 250 ]

Explain the distributional pattern of Industries in India- Does it provide basis for industrial regionalization?
[Answer Limit : 250 words]
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